MTH 132 - Quiz 3

4 June 2014

Name:; éc (V‘A‘ s

Justify 2ll your work to reccive full credit. No notes, books, calculators. phones, or any electronic devices
are allowed on this quiz. Good luck!

1. {12 points) Consider the function
flz) = 2t — 45°

in the following three parts.

{a) Use the derivative [’ to determine where f is increasing or decreasing. [Hint: You can factor {7
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(b} Pind the critical points of f. For each critical point, determine whether it is a jocal minimurm, local
maximum, or neither,
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{¢) Find the maximum and minimum values of f on the interval [0, 4]

Eho{}aa3»1[5: ‘p/0>
£ TR RN
C--a\‘{g‘g,__{ P‘J‘S! .c ( 3) =

!

O

1

Minm o - 23 ai

R

2. (8 points} A car enters a 12-mile long tunnel at 12 @ 00, and exits at 12 : 10, If the speed limit inside the
tunnel is 60 miles per hour. can you say definitively whether the car was moving faster than the speed
limit at some time?
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